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NEW QUESTION 1
A customer reports that one their SVMs has two default gateways. The customer wants to know whether this behavior is expected or if one of gateways should be
deleted.
In this scenario, what do you tell the customer?

A. The configuration is acceptable if the customer configures different metrics on all defaults routes.
B. The configuration is acceptable only if both default gateways are in the same subnet.
C. This situation is a misconfiguration, and the customer should delete one of the default gateways because there can be only gateway for each SVM.
D. The configuration is acceptabl
E. The customer can achieve load balancing between the default gateways by setting the same metric on all default routes.

Answer: A

NEW QUESTION 2
An administrator wants to keep an automatic daily up-to-date copy of a volume at a disaster recovery location. What should the administrator do to achieve this
goal?

A. Perform a volume relocation to the remote location.
B. Configure a SnapMirror relationship to the remote location.
C. Configure a SyncMirror relationship to the remote location.
D. Perform an NDMP dump to the remote location.

Answer: B

NEW QUESTION 3
Click the exhibit button.

A customer reports that storage latency has recently increased substantially. No changes have been introduced, and the traffic did not change.
Referring to the output shown in the exhibit, which corrective step should be taken?

A. Add more spindles.
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B. Throttle the client traffic.
C. Perform the volume reallocation.
D. Move some volumes off the affected aggregate.

Answer: B

NEW QUESTION 4
Your customer added a new DS2246 shelf to an existing stack on their FAS8060A system. The customer then noticed that the new shelf’s disks appear with the
shelf serial number instead of the shelf ID in the sysconfig -r command output.
What is the reason for this problem?

A. The SAS is cabled incorrectly.
B. There is failed IOM module in the new shelf.
C. The ACP is cabled incorrectly.
D. The new shelf has the same ID as another shelf.

Answer: A

NEW QUESTION 5
Click the exhibit button.

A customer is reporting that numbers in the statistics volume show command output appear to be incorrect. Referring to the exhibit, which statement is correct?

A. The problem is due to a difference in operation size.
B. Perfstat should be used to explain the behavior.
C. There are operation types that are not listed in the output.
D. A case with NetApp should be raised to find the root cause.

Answer: A

NEW QUESTION 6
A customer reports that copying data over iSCSI attached LUNs is taking significantly longer than usual. The customer asks you to help to identify the root cause
of this problem.
Which two perfstat sections would you use to accomplish this task? (Choose two.)

A. stats lun
B. lun stats -vserver
C. statit
D. stats volume

Answer: BC

NEW QUESTION 7
You want to determine which SMB versions that a CIFS server can use when communicating with external servers.
Which two CIFS server settings should be reviewed to accomplish this task? (Choose two.)

A. smb2-enabled
B. smb1-enabled-for-dc-connections
C. smb2-enabled-for-dc-conections
D. smb1-enabled

Answer: CD

NEW QUESTION 8
The root aggregate on your single-node ONTAP cluster failed. You have the configuration backups saved on your FTP server?
In this scenario, which two steps are part of the recovery procedure? (Choose two.)

A. Perform a Netboot using the configuration backup.
B. Create a new aggregate and set its ha_policy option to sfo.
C. Boot into maintenance mode.
D. Create a new root aggregate and set its ha_policy option to cfo.

Answer: CD

NEW QUESTION 9
Click the exhibit button.
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A storage administrator reports that when they enabled Vscan, they began receiving reports of CIFS users having very slow access to all their files. The storage
administrator recovered from the issue by disabling Vscan on their SVM. The storage administrator was able to collect perfstat output during the time of the
reported slow access, as shown in the exhibit.
In this situation, what is the problem?

A. The problem is on the SVM, as shown in the scan_latency output.
B. Vscan server 192.168.100.144 was slower than Vscan server 10.23.23.54 in completing Vscan requests.
C. Vscan server 10.23.23.54 was slower than Vscan server 192.168.100.144 in completing Vscan requests.
D. The problem was with both Vscan servers 192.168.100.144 and 10.23.23.54.

Answer: B

NEW QUESTION 10
Click the exhibit button.
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A customer’s system reported several errors. There was no disruption, but the customer is concerned about the system’s health.
Referring to the exhibit, which statement is true?

A. One of the switches has failed.
B. One of the IOM modules on shelf 20 has failed.
C. Storage redundancy is degraded.
D. Port 1D on the system has failed.

Answer: C

NEW QUESTION 10
Click the exhibit button.

A customer reports that their system recently began logging an error. Referring to the exhibit, which two statements are correct? (Choose two.)

A. The bcomd application is responsible for monitoring the observed behavior.
B. A user is attempting to restart the ntpd daemon.
C. The spmd application failed to restart the ntpd daemon.
D. The ntpd daemon is responsible for time services.

Answer: BD

NEW QUESTION 11
Click the exhibit button.
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You are troubleshooting a system in which the customer reports that aggregates on Stack 6c/12b are having slow response tomes from system
NETAPP1CLUS-02.
Referring to the exhibit, which two statements are correct? (Choose two.)

A. The aggregates have only one PHY running at six gigabits per second on 6c.
B. PHY 2 is running at six gigabits per second; on system NETAPP1CLUS-02, reseat IOM6 Module A on Shelf 10.
C. The shelf module firmware is downrev; on system NETAPP1CLUS-02, replace IOM6 Module A on Shelf 10.
D. The aggregates have only PHY at six gigabits per second on 12b.

Answer: AC

NEW QUESTION 13
The error message shown below is reported in the EMS log file.
“[sis.changelog.full:warning]: Change logging metafile on volume DATA1 is full and can not hold any more
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fingerprint entries.”
What are two ways to solve this problem? (Choose two.)

A. Clear the changelog manually so that the operation can restart.
B. Increase the size of the changelog to allow the operation to continue.
C. Modify the storage efficiency policy so that deduplication runs more frequently.
D. Modify the threshold that triggers a deduplication operation.

Answer: BD

NEW QUESTION 16
Click the exhibit button.
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Referring to the exhibit, which change is required to enable the CIFS Autolocation function for the Users share?

A. Edit the CIFS share’s properties to remove the changenotify property.
B. Re-create the LIFs to allow both CIFS and NFS protocols.
C. Change the CIFS share’s Symlink Properties parameter to symlinks.
D. Modify the CIFS server’s option to enable SMB multichannel.

Answer: C

NEW QUESTION 20
......
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